Showing Possession Answers

. The reindeer belonging to Santa flew through the air.
Santa’s reindeer flew through the air.

. The harp belonging to the giant sang beautifully.
The giant’s harp sang beautifully.

. The cauldron belonging to the witch boiled and bubbled.
The witch’s cauldron boiled and bubbled.

. The tail belonging to the dog wagged.
The dog’s tail wagged.

. The wheel belonging to the car had a puncture.
The car’s wheel had a puncture.

. The toys belonging to the child were scattered on the floor.
The child’s toys were scattered on the floor.

. The dress belonging to Molly hung in the wardrobe.
Molly’s dress hung in the wardrobe.

. The phone belonging to Cameron began to ring.
Cameron'’s phone began to ring.
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